~
o

w

)

—_
3

w
~J
@ ®
@ ©

®

P AN
@@R"’
/

19

12

15

02

Ennepetaler Schneid-u.
Mahtechnik GmbH u.Co KG

Kolner Strafle 29
D-58256 Ennepetal
Telefon (02333) 9688-0

DM-Exzenter-Mahantrieb
Eurosystems M320 / M350
fur Mahbalken Doppelmesser SC

Artikel-Nr.

Artikel-Nr.

137.1070

Telefax (02333) 9688-88

Internet: www.esm-ept.de

9021745
30.08.2016

Pos. Artikel-Nr. Bezeichnung Stick
011 236 0670 | Rohr, kpl.

02| 300 5160 | Welle 1
03| 566 0090 | Sicherungsring20x1,75 DIN 471 1
04| 590 3680 | Stutzrolle RNA 2202 2RS 1
05| 2810520 | Kurbel 1
06| 590 3690 | Stutzrolle RNA 2203 2RS 1
07 337 0530 | Kurbelscheibe 1
08| 3232890 | Zylinderschr. m.Ansatzsp.M10x32| 1
091 566 0200 | Sicherungsring 47x1,75 DIN 472 1
10| 590 0430 | Rillenkugellager 6204 2RS 1
110 276 0270 | Schutzhaube 1
121 559 0030 | Flachrundschr.M8x23 1
13| 560 2260 | Sechskantschr.M8x14 3
141 599 0490 | Gummischeibe L
15| 565 0250 | Sperrkantscheibe 8 3
16| 537 0420 | Sechskantmutter M8 5
17 5610300 | Zylinderschr. M8x16 5
18| 332 1110 | Fuhrungsplatte 2
19| 555 1460 | Passscheibe PS 8x14x0,2 1
20| 590 2190 | Innenring LR 25x30x20,5 6
211 566 0190 | Sicherungsring A 25x1,2V 1
22| 285 0160 | Lagerflansch 1
23| 323 3200 | Sonderschr. M16x30 1
24| 323 2880 | Sonderschr. M10x20 1
25| 590 1440 | Nadelhilse HK 3020 2RS 1

Pos. Artikel-Nr. Bezeichnung Stick
261 557 0010 | Schmiernippel H1 SFG 6x1 2
26al 557 Q030 | Schmiernippel H1 M 6x 1
301 568 0510 | Rundlager 1
31| 367 0640 | Scheibe 1
32| 272 1400 | Stutze 1
33| 323 5780 | Gewindebolzen 1
341 330 1530 | Gummifeder 1
35| 555 1340 | Stutzscheibe SS 20x28x2,0 1
37| 364 8000 | Winkel 2
38| 560 2630 | Sechskantschr.M10x25 2
39| 565 0120 | Federring A10 2
40| 537 0410 | Sechskantmuftter M 10 2
41| 555 0200 | Scheibe 10,5 DIN 125 L
Lose beigelegt: Pos&42-47
4721 560 2260 | Sechskantschr.M8x14 L
k2a| 565 0110 | Federring A8 L
L3| 2477 2990 | Messerkopf f.Obermesser 1
Li| 562 0430 | Rippschraube M8x14 2
45| 361 2450 | Abweiserblech 1
Le| 247 2640 | Messerkopf f.Unterm. 1
L7 562 0410 | Rippschraube M8x12 2






